Torrington Police Department March 2021 BOS Meeting

High Priority Calls		Lower Priority Calls		Administrative Calls	
Motor Vehicle Accidents	71	Assist Other Agencies	47	Follow Up Investigations	160
Robbery	0	Civilian Requests	171	Fleet Maintenance	61
Larceny	22	Harassment / Harrassing Calls	18	Report Writing	130
Burglary	6	Traffic Offense	119	Extra Patrols	662
Distrubance / Disorderly Conduct	15	Warrant Arrests / Attempts	84	Park and Walk	276
Mentally Unstable / Protective Custody	81	Suspicious Circumstances / Persons/Vehicles	143	Traffic Enforcement	93
Assaults	7	Hangers / Trespassing	3	Radar Monitoring	64
Ambulance Assists	20	Disabled Vehicle	21	Total:	1446
Unwanted Person	29	Neighbor/Tenant - Landlord Disputes	28		
Suicide Attempt	0				
Alarms	89	Threatening	9		
Problem 911	78	Vandalism	12		
Non Violent Family Disputes	30	Drug Violations	1		
Sex Assault	1	DWI	7		
Offense Against Child	1	Noise Complaint	45		
Motor Vehicle Theft	2	Total:	708	* 1	
Missing Persons	3				
Domestic Disturbance / Intimidation	25				
Total:	480				

iiiig	ton Police Department	TRAININ	NG REPORT	
Area	Curriculum	Course Hrs.	Credit Hrs.	
11	POLICE AND THE LAW	28	28	
	Code Topic	Sul	Total	
	201 Constitutional Law	21	21	
	209 Use of Force	7	7	
Area	Curriculum	Course Hrs.	Credit Hrs.	
III	PRACTICAL SKILLS	182	166	
	Code Topic		Total	
	300 Practical Police Skills	7	7	
	301 Firearms	37	21	
	301-A Shooting Decisions	7	7	
	301 Firearms Firearms Classroom	7	7	
	302-B OC SPRAY	9	9	
	302-C Less Than Lethal Force (EDW)	9	9	
	302-D Less Than Lethal Force (Chemical/	43	43	
	304 First Responder Course	49	49	
	312 De-Escalation	14	14	
Area	Curriculum	Course Hrs.	Credit Hrs.	
IV	HUMAN RELATIONS	28	28	
	Code Topic	Sub	Total	
	400 Human Relations	14	14	
	404 Juvenile Law Dealing with Juveniles	7	7	
	419 Implicit Bias	7	7	+
Area	Curriculum	Course Hrs.	Credit Hrs.	
٧	CRIMINAL INVESTIGATIONS	20	14	
	Code Topic		Total	
	502-A Fingerprinting	6	0	
	514-A Human Trafficking	14	14	
Area	Curriculum	Course Hrs.	Credit Hrs.	
VI		63	7	Lorentz Barrier
	Code Topic	70.70	Total	
	Stinger Spike Class	8	0	
	620 K-9 Teams	48	0	
	624 Gangs & Gang Violence	7	7	
	Officers Attending Officers Attending	Total Course	Total Credit	
	In House Schools Outside Schools	Hrs	Hrs	
		321	243	

Chief's Monthly Report: Records Bureau

Report for the month of: January Year: 2021	
Cases Filed: Requests for reports: 169	
Registered Sex Offenders: 102 Observer Applicants: 0	
Requests from Parole and Corrections: 17 Criminal Record Checks:	9
Vendor Permits Issued: 0 DCF Requests: 43	
Grant Overtime	
Narcotics: \$ Community Enhancement Grant: \$	
D.U.I. \$ 2937.69 Internet Crimes Against Children Grant \$	
Underage Drinking: \$ Violence ReductionGrant \$	
Blockwatch Grant: \$	
Youth & Police Grant: \$ Dare Overtime: \$	
Items of Note:	
1 BINGO PERMIT RECD 34 TEMP PISTOL PERMIT APPLICATIONS RECEIVED 28 TEMP PISTOL PERMITS ISSUED 57 PROTECTIVE ORDERS ENTERED 11 RECORD REQUEST FROM PROBATION 14 RECORD REQUESTS FROM COURT	
	-

Chief's Monthly Report: Animal Control Division

Report for the month of: January Year: 2021
Total Animal Control Calls: 77 Assist Other Agency: 0 Followup Investigations: 36 Torrington Calls: 71 Goshen Calls: 1 Litchfield Calls: 6 Total Tele-Service Calls: 16 Torrington Tele-Service: 15 Goshen Tele-Service: 0 Litchfield Tele-Service: 1 Calls Handled After Hours: 6 Calls Handled By Patrol Division: 6 Total Animal Bite Calls: 7 Torrington Bites: 5 Goshen Bites: 1 Litchfield Bites: 1 Infractions Issued: 3 Written Warnings: 1 Arrests: 0
Animals Impounded: 7 Animals Dispatched: 1 Animals Redeemed to Owners: 7 Dead Deer: 0 Animals Placed in Adoption: 0 Dead Animals: 6 Transport Emergency Vet: 0 Delinquent Tags: Transport Regular Vet: 1 Other Special Activities this Month:

Chief 's Monthly Report: Traffic Unit

MONTH OF: January 2021

FFIC	12	TRAFFIC SURVEYS / INSPECTIONS / COMPLAINTS								
TRAFFIC	3	TRAFFIC / SPEED COUNTS								
	271	PARKING TICKETS 0 WARNING TICKETS ISSUED BY POLICE								
PARKING TICKETS	125	PARKING TICKETS 0 WARNING TICKETS ISSUED BY PARKING								
	0	PARKING TICKETS ISSUED BY OTHER								
	2	HANDICAP PARKING TICKETS ISSUED								
	0	FIRE LANE PARKING TICKETS ISSUED								
	122	OVERNIGHT PARKING TICKETS ISSUED								
NG	\$12,209.26	MONIES COLLECTED FROM PARKING TICKETS, REPORTS, PERMITS, ETC								
\RK	9,446	UNPAID TICKETS TO DATE								
P /	\$335,461.11	UNPAID FINES TO DATE								
	0	NOTICES SENT DURING MONTH 0 BOOT LETTERS SENT								
	\$2,695.29	MONIES COLLECTED FROM METERS Fiscal Year Meter Total: \$79,749.59)								
	\$14,904.55	TOTAL MONTHLY COLLECTIONS (Fiscal year Total Collections: \$204,922.06)								
ທີ່	71	MOTOR VEHICLE ACCIDENTS INVESTIGATED								
Ë N	13	MOTOR VEHICLE ACCIDENTS INVOLVING INJURIES								
M.V. ACCIDENTS	13	TOTAL PERSONS INJURED IN MOTOR VEHICLE ACCIDENTS								
	0	MOTOR VEHICLE ACCIDENTS INVOLVING FATALITIES								
Σ.	0	TOTAL FATALITIES								
	0	SCHOOL BUS VIOLATIONS								
	6	DRIVING WHILE INTOXICATED VIOLATIONS								
SN	10	STOP SIGN VIOLATIONS								
OF.	64	SPEED MONITORING LOCATIONS								
OLA	27	SPEEDING VIOLATIONS								
Š	19	TRAFFIC SIGNAL VIOLATIONS								
TRAFFIC VIOLATIONS	120	TOTAL TRAFFIC VIOLATIONS								
TRA	93	TRAFFIC ENFORCEMENT LOCATIONS								
	0	COMMERCIAL VEHICLE INSPECTIONS 0 VIOLATIONS FOUND 0 00S								
GE	5	TRAFFIC SIGNALS REQUIRING REPAIR / MAINTENANCE								
NAN N	53	TRAFFIC SIGNS REQUIRING REPAIR / MAINTENANCE								
Ä	0	ROADWAY MARKINGS REQUIRING MAINTENANCE								
MAINTENANCE	25	METERS REQUIRING REPAIR / MAINTENANCE								
	17.5	EMPLOYEE HOURS LOST DUE TO EARNED TIME								
TIME	0	EMPLOYEE HOURS LOST DUE TO SICK TIME								

Chief's Monthly Report: Community Relations Office

Report for the month of: January Year: 2021
New Blockwatches Total Blockwatches Number of Persons Fingerprinted 45 Shifts Assigned to Patrol 5 Number of Infractions 0
PAL has continued its limited basketball programming which is soon able to get back to normal after restrictions are lifted. PAL is in the planning stages of a Winter festival at West Torrington as well as a collaboration with McCalls on an Addiction and Police In The Community curriculum for the Middle School. Aside from the 5 days this month on patrol and 4 days fingerprinting, my other time was spent on the following events: 1/5/21 - Zoom meeting for the Rotary Club 1/14/21 - Finished updating the Bank Alarm information and handed over to LCD 1/15/21 - Setup for promotional testing at Coe Park -Numerous PAL meetings with Chris Smedick planning for upcoming events and fundraising -Numerous meetings to acquire 3-4 new buildings to be used for SRT training
Upcoming events: 2/4/21 - Walk through of old Psams building with PAC group for SRT training with simunitions

2/4/21- ZOOM Virtual tour of PD for Baracco

2/9/21- Meeting with Smedick and Andrew Lyon about curriculum



Chief 's Monthly Report: DETECTIVE DIVISION

Report for the month of: January Year: 2021
New Cases: 31
Cases closed by arrest: 4 Cases closed no arrest: 15
Active cases on file: 42
Arrest Warrants Applied For: 3 Arrest Warrants Served: 2
Schools Attended and by whom:
D/KJOH (West Hartford Recert 1 Day) EMUM (West Hartford Recert; 5 days, SRT Sniper Training 1 day)
¥.
Attached pages detail all activity, broken down by incident type, for the Detective Bureau throughout the course of the month. # of attached pages: 6
Items of Note:
Warrant Arrest Dylan Brocar (20-16977) Town Farm Rd. fatal Motor Vehicle Accident on 1/8/21

January 2021 Detective Division Open Case Report

014	Offense Against Child	Total:	4	Open:	4	Closed:
106	Accident - Fatal	Total:	1	Open:	1	Closed:
1141	Pawn Brokers	Total:	6	Open:	6	Closed:
1142	Cell Phone Exam	Total:	2	Open:	2	Closed:
11A	Sexual Assault With Force	Total:	1	Open:	1	Closed:
11D	SexAssault Forcible Contact	Total:	2	Open:	2	Closed:
120	Robbery	Total:	1	Open:	1	Closed:
13A	Assault Aggravated	Total:	2	Open:	2	Closed:
200	Arson	Total:	1	Open:	1	Closed:
209	Assist Fire Dept	Total:	1	Open:	1	Closed:
232	Harassment	Total:	1	Open:	1	Closed:
23G	Larceny Theft of MV Parts	Total:	1	Open:	1	Closed:

	Total Arrest:	0	Total	42	Open:	42	Closed:
410	Untimely Death		Total:	8	Open:	8	Closed:
400	Bomb Threat		Total:	1	Open:	1	Closed:
36B	Sexual Assault (Statutory)		Total:	1	Open:	1	Closed:
281	Suspicious Circumstances		Total:	3	Open:	3	Closed:
26B	Fraud Credit Card/ATM		Total:	1	Open:	1	Closed:
26A	Fraud False Pretenses		Total:	2	Open:	2	Closed:
264	Assist Trinity		Total:	1	Open:	1	Closed:
245	Missing Person		Total:	1	Open:	1	Closed:
23H	Larceny All Other		Total:	1	Open:	1	Closed:

January 2021 Detective Division New Cases

	TPD	Total:	0	Open:	1	Closed:	
069	Weapon Ineligibility	Total:	1	Open:		Closed:	1
1114	Registry Compliance	Total:	1	Open:		Closed:	1
1117	Applicant Background	Total:	1	Open:		Closed:	1
1141	Pawn Brokers	Total:	6	Open:	6	Closed:	
1142	Cell Phone Exam	Total:	2	Open:	2	Closed:	
11A	Sexual Assault With Force	Total:	1	Open:	1	Closed:	
13A	Assault Aggravated	Total:	1	Open:	1	Closed:	
208	Assist Other Agency	Total:	1	Open:		Closed:	1
209	Assist Fire Dept	Total:	1	Open:	1	Closed:	
212	Civilian Request	Total:	1	Open:		Closed:	1
220	Burglary	Total:	2	Open:		Closed:	1

	Total Arrest: 0) Total	26	Open:	20	Closed:	6	
410	Untimely Death	Total:	3	Open:	3	Closed:		
400	Bomb Threat	Total:	1	Open:	1	Closed:		
36B	Sexual Assault (Statutory)	Total:	1	Open:	1	Closed:		
281	Suspicious Circumstances	Total:	1	Open:	1	Closed:		
26B	Fraud Credit Card/ATM	Total:	1	Open:	1	Closed:		
26A	Fraud False Pretenses	Total:	1	Open:	1	Closed:		

January 2021 Detective Division Supervisor New Case

1117	Applicant Background	Total:	5	Open:	Closed:	5	
	Total Arrest:	Total	5	Open:	Closed:	5	

January 2021 Detective Division Closed Case Report

	Total Arrest: 3	Total	20	Open:	1	Closed:	19	
410	Untimely Death	Total:	3	Open:		Closed:	3	
36B	Sexual Assault (Statutory)	Total:	1	Open:		Closed:	1	
23C	Larceny Shoplifting	Total:	1	Open:		Closed:	1	
220	Burglary	Total:	1	Open:		Closed:	1	
212	Civilian Request	Total:	1	Open:		Closed:	1	
208	Assist Other Agency	Total:	1	Open:		Closed:	1	
1117	Applicant Background	Total:	5	Open:		Closed:	5	
1114	Registry Compliance	Total:	1	Open:		Closed:	1	
106	Accident - Fatal	Total:	1	Open:	1	Closed:		
069	Weapon Ineligibility	Total:	2	Open:		Closed:	2	
014	Offense Against Child	Total:	3	Open:		Closed:	3	

Chief William Baldwin

Re: 71 Whitewoods Rd.

Officers Dan Stevens and Dave Curtin

Chief,

On January 24, 2021 at approximately 1900 hours, we had a 64 year old male patient at the above address who was experiencing a state of altered mental status. We requested an ambulance to the scene and upon arrival the patient was somewhat combative and agitated. EMS personnel on scene called for your officers to assist in getting the patient to transport to CHH for further evaluation. Upon arrival the officers were both professional and courteous to the patient who still was in an altered state and refusing to go. They had a tremendous amount of patience trying to convince patient to go in which they ultimately prevailed without having to forcibly get the patient on the stretcher. They turned what could have been an ugly situation into one that was resolved with the patient being transported to CHH. The patient was in liver failure and had nearly five times the ammonia levels of normal which accounted for his altered state. The family and myself would like to express our thanks for the time and energy that these officers took to make a bad situation end with a good outcome. Having been in EMS for 35 years I know how often these situations can go downhill and sideways but these two officers took the time and had the patience to resolve the issues without resorting to force. Kudos to them both!!

The Stolfi Family

January or Report

OVERTIME WEEK ENDING

01/02/2021 March BPS

Monthly

OT WEEK

	a		ъ	dated 01010004		13	\		
DATE	NAME	DIVISION		rinted 2/3/2021 rinted by Michele	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
1/2/21	CREAN	PATROL	PATROL - EVES		\$38.1024	8.5	\$57.1536	\$485.8056	01/02/2021
1/2/21	DELOY	PATROL	PATROL - EVES		\$36.2602	8	\$54.3903	\$435.1224	01/02/2021
1/1/21	BAROWN	PATROL	PATROL - MIDS		\$49.8662	7.5	\$74.7993	\$560.9948	01/02/2021
1/1/21	SULTAIRE	PATROL	PATROL - DAYS		\$40.8202	8	\$61.2303	\$489.8424	01/02/2021
1/2/21	FAY	PATROL	21-71 PROTECTIVE CU	STODY	\$30.5879	1	\$45.8819	\$45.8819	01/02/2021
1/2/21	CURTIN	PATROL	21-71 PROTECTIVE CU	STODY	\$32.9194	1	\$49.3791	\$49.3791	01/02/2021
1/4/21	BAROWN	ADMIN	ADMIN DUTIES		\$49.8662	1.5	\$74.7993	\$112.1990	01/09/2021
1/6/21	BLASIAK	PATROL	FVO ARREST		\$36.2602	1.5	\$54.3903	\$81.5855	01/09/2021
1/6/21	DAVIES	PATROL	FTO DUTIES		\$36.2602	3.5	\$54.3903	\$190.3661	01/09/2021
1/4/21	KELLY	TRAINING	TRAINING ON RDO		\$40.8202	8	\$61.2303	\$489.8424	01/09/2021
1/3/21	KRZANOWSKI	PATROL	PATROL - DAYS		\$45.2840	8.5	\$67.9260	\$577.3710	01/09/2021
1/4/21	KRZANOWSKI	PATROL	AIT CASE 20-26513		\$45.2840	1.5	\$67.9260	\$101.8890	01/09/2021
1/5/21	KRZANOWSKI	PATROL	PATROL - DAYS	TC	\$45.2840	8	\$67.9260	\$543.4080	01/09/2021
1/6/21	KRZANOWSKI	PATROL	PATROL - DAYS	2. RECEIVEI TORRINGTON	\$45.2840	8	\$67.9260	\$543.4080	01/09/2021
1/4/21	LOUCKS	PATROL	PATROL - DAYS	2/, RECEIVED RINGTON '	\$36.2602	8	\$54.3903	\$435.1224	01/09/2021
1/3/21	MAIGA	PATROL	PATROL - DAYS	TO.	\$40.8202	8	\$61.2303	\$489.8424	01/09/2021
1/6/21	MAIGA	PATROL	PATROL - DAYS		\$40.8202	8	\$61.2303	\$489.8424	01/09/2021
1/7/21	YABROSKY	PATROL	PATROL - DAYS	2/3/2021 : ED FOR R: N TOWN	\$36.2602	.50	\$54.3903	\$27.1952	01/09/2021
1/7/21	RICHARD	PATROL	PATROL - DAYS	Z Z I.	\$36.2602	7	\$54.3903	\$380.7321	01/09/2021
1/7/21	GUIDA	PATROL	PATROL - EVES	2:34 PM ECORD CLERK	\$36.2602	8	\$54.3903	\$435.1224	01/09/2021
1/8/21	CURTIN	PATROL	21-635 FVO	PM)RD ERK	\$32.9194	3	\$49.3791	\$148.1373	01/09/2021
1/8/21	FAY	PATROL	21-635 FVO		\$30.5879	1	\$45.8819	\$45.8819	01/09/2021
1/7/21	SULTAIRE	PATROL	PATROL - EVES		\$40.8202	8	\$61.2303	\$489.8424	01/09/2021
1/7/21	BAROWN	ADMIN	ADMIN DUTIES		\$49.8662	2	\$74.7993	\$149.5986	01/09/2021
1/9/21	TOLEDO	PATROL	PATROL - DAYS		\$36.2602	8	\$54.3903	\$435.1224	01/09/2021
1/9/21	YABROSKY	PATROL	21-814 REPORT FOR A	SSAULT	\$36.2602	2.5	\$54.3903	\$135.9758	01/09/2021
1/9/21	ROULEAU	PATROL	PATROL - EVES		\$45.2840	8	\$67.9260	\$543.4080	01/09/2021
1/9/21	GUIDA	PATROL	PATROL - EVES		\$36.2602	8	\$54.3903	\$435.1224	01/09/2021

O	/FRTI	ME	WEEK	FND	NG
\mathbf{U}					

01/09/2021

DATE	NAME	DIVISION	Assignment	Printed 2/3/2021 Printed by Michele	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
1/9/21	SULTAIRE	PATROL	PATROL - DAYS		\$40.8202	8.5	\$61.2303	\$520.4576	01/09/2021
1/9/21	KELLY	PATROL	PATROL - DAYS		\$40.8202	8	\$61.2303	\$489.8424	01/09/2021
1/8/21	DINUNZIO	PATROL	PATROL - EVES		\$36.2602	8	\$54.3903	\$435.1224	01/09/2021
1/9/21	TIEMAN	PATROL	PATROL - MIDS		\$38.1024	8.5	\$57.1536	\$485.8056	01/09/2021
1/8/21	JOHNSON B	DETECTIVI	20-676 THREATENI	NG INVESTIGATION	\$45.2840	6	\$67.9260	\$407.5560	01/09/2021
1/8/21	GUIDA	PATROL	20-669 DV ARREST		\$36.2602	3	\$54.3903	\$163.1709	01/09/2021
1/8/21	OTIS	PATROL	20-26513 AIT		\$36.2602	8	\$54.3903	\$435.1224	01/09/2021
1/8/21	TIEMAN	DETECTIVE	20-26513 AIT		\$38.1024	8	\$57.1536	\$457.2288	01/09/2021
1/8/21	SOUTHARD		20-26513 AIT		\$40.8202	1	\$61.2303	\$61.2303	01/09/2021
1/8/21	FOX	PATROL.		NG INVESTIGATION	\$36.2602	2	\$54.3903	\$108.7806	01/09/2021
1/8/21	BELONICK	PATROL	20-676 THREATENI	NG INVESTIGATION	\$30.5879	2	\$45.8819	\$91.7637	01/09/2021
1/6/21	GONZALEZ	ADMIN	ADMIN DUTIES		\$49.8662	5	\$74.7993	\$373.9965	01/09/2021
1/3/21	DELOY	PATROL	PATROL - EVES		\$36.2602	8	\$54.3903	\$435.1224	01/09/2021
1/8/21	CREAN	PATROL	PATROL - DAYS		\$38.1024	8.5	\$57.1536	\$485.8056	01/09/2021
1/8/21	KRZANOWSKI	PATROL	PATROL - EVES		\$45.2840	8	\$67.9260	\$543.4080	01/09/2021
1/8/21	SULTAIRE	PATROL	PATROL - EVES		\$40.8202	8	\$61.2303	\$489.8424	01/09/2021
1/8/21	DELAY	TRAINING	TRAINING INSTRUC	CTOR	\$40.8202	8	\$61.2303	\$489.8424	01/09/2021
1/8/21	KRZANOWSKI	TRAINING	TRAINING INSTRUC	CTOR	\$45.2840	8	\$67.9260	\$543.4080	01/09/2021
1/8/21	MAIGA	TRAINING	TRAINING INSTRUC	CTOR ON RDO	\$40.8202	8	\$61.2303	\$489.8424	01/09/2021
1/6/21	STEVENS	TRAINING	TRAINING ON RDO		\$36.2602	8	\$54.3903	\$435.1224	01/09/2021
1/5/21	STEVENS	TRAINING	TRAINING ON RDO		\$36.2602	8	\$54.3903	\$435.1224	01/09/2021
1/10/21	BALDIS	PATROL	PATROL - DAYS		\$40.8202	8.5	\$61.2303	\$520.4576	01/16/2021
1/11/21	DAVIES		PATROL - DAYS		\$36.2602	8.5	\$54.3903	\$462.3176	01/16/2021
1/13/21	DEGOURSEY	PATROL	21-1089 ARREST W	ARRANTS	\$36.2602	.50	\$54.3903	\$27.1952	01/16/2021
1/13/21	DINUNZIO	PATROL	PATROL - DAYS		\$36.2602	8	\$54.3903	\$435.1224	01/16/2021
1/10/21	FAY	PATROL	PATROL - MIDS		\$32.9194	8	\$49.3791	\$395.0328	01/16/2021
1/11/21	GALLAGHER	PATROL	21-936 FVO WARRA	ANT	\$36.2602	1.5	\$54.3903	\$81.5855	01/16/2021
1/13/21	GONZALEZ	PATROL	PATROL - MIDS		\$49.8662	8	\$74.7993	\$598.3944	01/16/2021
4									

O	/FRT	ME	WEEK	FNDI	NG
•					

01/16/2021

DATE	NAME	DIVISION	l Assignment	Printed 2/3/2021 Printed by Michele	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
1/10/21	GUIDA	PATROL	PATROL - DAYS		\$36.2602	8.5	\$54.3903	\$462.3176	01/16/2021
1/10/21	JOSEPH	PATROL	PATROL - DAYS		\$45.2840	8	\$67.9260	\$543.4080	01/16/2021
1/12/21	LOUCKS	PATROL	PATROL - EVES		\$36.2602	5	\$54.3903	\$271.9515	01/16/2021
1/10/21	MAIGA	PATROL	PATROL - DAYS		\$40.8202	8.5	\$61.2303	\$520.4576	01/16/2021
1/10/21	MISKO	PATROL	ARREST WARRANT	•	\$32.9194	.50	\$49.3791	\$24.6896	01/16/2021
	OTIS	PATROL			The Martin Server of Color (178)	.50		\$435.1224	01/16/2021
1/10/21		PATROL	PATROL - DAYS		\$36.2602 \$45.2840		\$54.3903		
1/10/21	ROULEAU	SUPPORT	PATROL - EVES		\$45.2840	8	\$67.9260	\$543.4080	01/16/2021
1/11/21	ROULEAU		ADMIN DUTIES		\$45.2840	2	\$67.9260	\$135.8520	01/16/2021
1/14/21	SOUTHARD	PATROL	PATROL - DAYS		\$40.8202	8	\$61.2303	\$489.8424	01/16/2021
1/14/21	ROULEAU	PATROL	PATROL - MIDS		\$45.2840	8	\$67.9260	\$543.4080	01/16/2021
1/13/21	DAVIES	PATROL	21-1169 INVESTIGA	TION	\$36.2602	1	\$54.3903	\$54.3903	01/16/2021
1/14/21	ABALAN	PATROL	PATROL - DAYS		\$33.9077	8	\$50.8616	\$406.8924	01/16/2021
1/11/21	BAROWN	ADMIN	ADMIN DUTIES		\$49.8662	1.5	\$74.7993	\$112.1990	01/16/2021
1/12/21	BAROWN	ADMIN	ADMIN DUTIES		\$49.8662	1	\$74.7993	\$74.7993	01/16/2021
1/13/21	BAROWN	ADMIN	ADMIN DUTIES		\$49.8662	1.5	\$74.7993	\$112.1990	01/16/2021
1/15/21	BROUILLARD	DETECTIVI	21-1441 CAR FIRE		\$40.8202	3	\$61.2303	\$183.6909	01/16/2021
1/15/21	CREAN	DETECTIVI	21-1409 UNTIMELY		\$38.1024	2	\$57.1536	\$114.3072	01/16/2021
1/16/21	CURTIN	PATROL	21-1448 ACCIDENT		\$32.9194	1.5	\$49.3791	\$74.0687	01/16/2021
1/10/21	DELOY	PATROL	PATROL - EVES		\$36.2602	8	\$54.3903	\$435.1224	01/16/2021
1/16/21	DELOY	PATROL	PATROL - EVES		\$36.2602	8	\$54.3903	\$435.1224	01/16/2021
1/16/21	D'AUTORIO	PATROL	PATROL - MIDS		\$40.8202	8	\$61.2303	\$489.8424	01/16/2021
1/16/21	FADOR	DETECTIVE	21-1441 CALL OUT	ON RDO	\$38.1024	8	\$57.1536	\$457.2288	01/16/2021
1/16/21	GUIDA	PATROL	PATROL - EVES		\$36.2602	8	\$54.3903	\$435.1224	01/16/2021
1/16/21	JOSEPH	PATROL	PATROL - DAYS		\$45.2840	8	\$67.9260	\$543.4080	01/16/2021
1/15/21	KRZANOWSKI	PATROL	PATROL - DAYS		\$45.2840	8.5	\$67.9260	\$577.3710	01/16/2021
1/16/21	MISKO	PATROL	PATROL - DAYS		\$32.9194	8	\$49.3791	\$395.0328	01/16/2021
1/16/21	PETERS	PATROL	PATROL - EVES		\$40.8202	8	\$61.2303	\$489.8424	01/16/2021
1/15/21	ROULEAU	PATROL	PATROL - MIDS		\$45.2840	8	\$67.9260	\$543.4080	01/16/2021

OVERTIME WEEK END	DIN	IG
-------------------	-----	----

01/16/2021

DATE	NAME	DIVISION Assignment Printed 2/3/2021 Printed by Michele	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
1/16/21	SULTAIRE	PATROL PATROL - MIDS	\$40.8202	8	\$61.2303	\$489.8424	01/16/2021
1/16/21	TOLEDO	PATROL - DAYS	\$36.2602	8	\$54.3903	\$435.1224	01/16/2021
1/14/21	SULTAIRE	PATROL - DAYS	\$40.8202	8	\$61.2303	\$489.8424	01/16/2021
1/20/21	JOHNSON B	DETECTIVE 20-1883 SRT CALLOUT	\$45.2840	5	\$67.9260	\$339.6300	01/23/2021
1/20/21	GONSKA	PATROL 20-1883 SRT CALLOUT	\$36.2602	5	\$54.3903	\$271.9515	01/23/2021
1/20/21	CONNOLLY	PATROL 20-1883 SRT CALLOUT	\$36.2602	5	\$54.3903	\$271.9515	01/23/2021
1/20/21	LOUCKS	PATROL 20-1883 SRT CALLOUT	\$36.2602	5	\$54.3903	\$271.9515	01/23/2021
1/20/21	SIMON	PATROL 20-1883 SRT CALLOUT	\$36.2602	5	\$54.3903	\$271.9515	01/23/2021
1/20/21	BROUILLARD	DETECTIVE 20-1883 SRT CALLOUT	\$40.8202	5	\$61.2303	\$306.1515	01/23/2021
1/19/21	BERNABUCCI	PATROL 21-1718 BOMB THREAT	\$40.8202	2	\$61.2303	\$122.4606	01/23/2021
1/19/21	GIORDANO	DETECTIVE 21-1718 BOMB THREAT	\$40.8202	3	\$61.2303	\$183.6909	01/23/2021
1/19/21	GELORMINO	DETECTIVE 21-1718 BOMB THREAT	\$38.1024	3	\$57.1536	\$171.4608	01/23/2021
1/19/21	JOHNSON K	DETECTIVE 21-1718 BOMB THREAT	\$38.1024	3	\$57.1536	\$171.4608	01/23/2021
1/19/21	FADOR	DETECTIVE 21-1718 BOMB THREAT	\$38.1024	3	\$57.1536	\$171.4608	01/23/2021
1/19/21	MRAZIK	PATROL 21-1718 BOMB THREAT	\$36.2602	2.5	\$54.3903	\$135.9758	01/23/2021
1/19/21	LETTIERI	PATROL 21-1718 BOMB THREAT	\$36.2602	2.5	\$54.3903	\$135.9758	01/23/2021
1/19/21	BELONICK	PATROL 21-1718 BOMB THREAT	\$30.5879	2.5	\$45.8819	\$114.7046	01/23/2021
1/19/21	KISIEL	PATROL 21-1718 BOMB THREAT	\$30.5879	2.5	\$45.8819	\$114.7046	01/23/2021
1/21/21	BELONICK	PATROL 21-1894 ARREST PAPERWORK	\$30.5879	4	\$45.8819	\$183.5274	01/23/2021
1/18/21	CREAN	DETECTIVE 21-1620 UNTIMELY	\$38.1024	8	\$57.1536	\$457.2288	01/23/2021
1/20/21	CREAN	DETECTIVE 20-26513 WARRANT	\$38.1024	3	\$57.1536	\$171.4608	01/23/2021
1/18/21	CURTIN	PATROL 21-1620 UNTIMELY	\$32.9194	2	\$49.3791	\$98.7582	01/23/2021
1/19/21	CURTIN	PATROL 21-1721 FV ARREST	\$32.9194	3.5	\$49.3791	\$172.8269	01/23/2021
1/20/21	DAVIES	PATROL PATROL - EVES	\$36.2602	8	\$54.3903	\$435.1224	01/23/2021
1/21/21	DINUNZIO	PATROL - DAYS	\$36.2602	8	\$54.3903	\$435.1224	01/23/2021
1/19/21	GELORMINO	DETECTIVE 20-1810 WARRANT SERVICE MIDDLETO	OWN \$38.1024	1	\$57.1536	\$57.1536	01/23/2021
1/21/21	FAY	PATROL 21-1894 FVO ARREST	\$32.9194	.50	\$49.3791	\$24.6896	01/23/2021
1/18/21	JOHNSON B	DETECTIVE 21-1620 UNTIMELY ON RDO	\$45.2840	8	\$67.9260	\$543.4080	01/23/2021

O	/FRTI	ME	WEEK	FNDII	NG
\mathbf{v}			AAFFI		40

01/23/2021

DATE	NAME	DIVISION	Printed 2/3/2021 Assignment Printed by Michele	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
1/17/21	JOSEPH	PATROL	PATROL - DAYS	\$45,2840	8	\$67.9260	\$543.4080	01/23/2021
1/18/21	KRZANOWSKI	PATROL	20-16977 CASE REVIEW	\$45.2840	2	\$67.9260	\$135.8520	01/23/2021
1/21/21	LETTIERI	PATROL	21-1894 ARREST	\$36.2602	4	\$54.3903	\$217.5612	01/23/2021
1/20/21	LOUCKS	PATROL	PATROL - DAYS	\$36.2602	8	\$54.3903	\$435.1224	01/23/2021
1/17/21	MAIGA	PATROL	PATROL - DAYS	\$40.8202	8.5	\$61.2303	\$520.4576	01/23/2021
1/20/21	MISKO	TRAINING	WH TRAINING	\$32.9194	4.5	\$49.3791	\$222.2060	01/23/2021
1/20/21	PETERS	PATROL	PATROL - DAYS	\$40.8202	8.5	\$61.2303	\$520.4576	01/23/2021
1/19/21	SEGUI	PATROL	PATROL - MIDS	\$36.2602	8	\$54.3903	\$435.1224	01/23/2021
1/22/21	BELONICK	PATROL	20-36749 REPORT COMPLETIONS	\$30.5879	2.5	\$45.8819	\$114.7046	01/23/2021
1/22/21	LETTIERI	PATROL	FTO DUTIES	\$36.2602	2.5	\$54.3903	\$135.9758	01/23/2021
1/20/21	BAROWN	ADMIN	ADMIN DUTIES	\$49.8662	2	\$74.7993	\$149.5986	01/23/2021
1/21/21	BAROWN	ADMIN	ADMIN DUTIES	\$49.8662	1	\$74.7993	\$74.7993	01/23/2021
1/21/21	BAROWN	ADMIN	21-1883 INVESTIGATION	\$49.8662	3.5	\$74.7993	\$261.7976	01/23/2021
1/18/21	DAVIES	TRAINING	WEST HTFD RECERT	\$36.2602	8	\$54.3903	\$435.1224	01/23/2021
1/19/21	DAVIES	TRAINING	WEST HTFD RECERT	\$36.2602	8	\$54.3903	\$435.1224	01/23/2021
1/22/21	ABALAN	PATROL	PATROL - DAYS	\$33.9077	8	\$50.8616	\$406.8924	01/23/2021
1/21/21	DEGOURSEY	PATROL	20-39863 SUBPOENA CIVIL CASE	\$36.2602	1	\$54.3903	\$54.3903	01/23/2021
1/23/21	DEGOURSEY	PATROL	PATROL - DAYS	\$36.2602	8	\$54.3903	\$435.1224	01/23/2021
1/17/21	DELOY	PATROL	PATROL - EVES	\$36.2602	8	\$54.3903	\$435.1224	01/23/2021
1/20/21	DELOY	PATROL	21-1883 SRT CALLOUT ON RDO	\$36.2602	8	\$54.3903	\$435.1224	01/23/2021
1/21/21	DELOY	TRAINING	MONTHLY IN SERVICE K9 TRNG ON RDO	\$36.2602	8	\$54.3903	\$435.1224	01/23/2021
1/19/21	GONZALEZ	PATROL	21-1718 CALL OUT	\$49.8662	5	\$74.7993	\$373.9965	01/23/2021
1/19/21	GONZALEZ	ADMIN	ADMIN DUTIES	\$49.8662	2	\$74.7993	\$149.5986	01/23/2021
1/20/21	GONZALEZ	PATROL	21-1883 DV CASE	\$49.8662	5	\$74.7993	\$373.9965	01/23/2021
1/22/21	GUIDA	PATROL	21-2078 ARREST	\$36.2602	1.5	\$54.3903	\$81.5855	01/23/2021
1/20/21	KISIEL	TRAINING	REPORT WRITING IN DB	\$30.5879	1	\$45.8819	\$45.8819	01/23/2021
1/22/21	KRZANOWSKI	PATROL	ADMIN DUTIES	\$45.2840	1.5	\$67.9260	\$101.8890	01/23/2021
1/18/21	ROULEAU	SUPPORT	ADMIN DUTIES	\$45.2840	2	\$67.9260	\$135.8520	01/23/2021

a	/EDTI	RAC	WEEK	ENID	NC
\mathbf{u}	CRI	IVIC	AACEL	CIADI	NO

01/23/2021

DATE	NAME	DIVISION	Assignment	Printed 2/3/2021 Printed by Michele	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
1/20/21	ROULEAU	PATROL	21-1883 SERT CALL	OUT	\$45.2840	5	\$67.9260	\$339.6300	01/23/2021
1/20/21	ROULEAU	SUPPORT	ADMIN DUTIES		\$45.2840	2	\$67.9260	\$135.8520	01/23/2021
1/22/21	SULTAIRE	PATROL	PATROL - DAYS		\$40.8202	8	\$61.2303	\$489.8424	01/23/2021
1/20/21	TIEMAN	TRAINING	REPORT WRITING	WITH KISIEL	\$38.1024	1	\$57.1536	\$57.1536	01/23/2021
1/23/21	TIEMAN	PATROL	PATROL - MIDS		\$38.1024	8.5	\$57.1536	\$485.8056	01/23/2021
1/23/21	TOLEDO	PATROL	PATROL - DAYS		\$36.2602	8	\$54.3903	\$435.1224	01/23/2021
1/19/21	WITYAK	SUPPORT	ADMIN DUTIES		\$40.8202	1	\$61.2303	\$61.2303	01/23/2021
1/22/21	WITYAK	SUPPORT	ADMIN DUTIES		\$40.8202	8	\$61.2303	\$489.8424	01/23/2021
1/21/21	YABROSKY	PATROL	20-33933 SUBPOEN	A CIVIL CASE	\$36.2602	1	\$54.3903	\$54.3903	01/23/2021
1/19/21	FAY	PATROL	21-1721 DV ARREST	Г	\$32.9194	.50	\$49.3791	\$24.6896	01/23/2021
1/25/21	MAIGA	PATROL	PATROL - DAYS		\$40.8202	8.5	\$61.2303	\$520.4576	01/30/2021
1/24/21	SULTAIRE	PATROL	PATROL - EVES		\$40.8202	8	\$61.2303	\$489.8424	01/30/2021
1/26/21	MAIGA	PATROL	PATROL - DAYS		\$40.8202	8.5	\$61.2303	\$520.4576	01/30/2021
1/24/21	TOLEDO	PATROL	PATROL - DAYS		\$36.2602	8	\$54.3903	\$435.1224	01/30/2021
1/24/21	D'AUTORIO	PATROL	PATROL - DAYS		\$45.2840	8	\$67.9260	\$543.4080	01/30/2021
1/26/21	SULTAIRE	PATROL	PATROL - DAYS		\$40.8202	8.5	\$61.2303	\$520.4576	01/30/2021
1/27/21	FOX	PATROL	21-2639 EDP ATTEN	IPT TO LOCATE	\$36.2602	1	\$54.3903	\$54.3903	01/30/2021
1/27/21	GONZALEZ	ADMIN	ADMIN DUTIES		\$49.8662	1.5	\$74.7993	\$112.1990	01/30/2021
1/28/21	GONZALEZ	ADMIN	ADMIN DUTIES		\$49.8662	1.5	\$74.7993	\$112.1990	01/30/2021
1/25/21	GONZALEZ	ADMIN	ADMIN DUTIES		\$49.8662	1.5	\$74.7993	\$112.1990	01/30/2021
1/27/21	DALLAS	PATROL	SEARCH WARRANT	SIGNED	\$36.2602	2.5	\$54.3903	\$135.9758	01/30/2021
1/26/21	DAVIES	TRAINING	SNIPER TRAINING		\$36.2602	8	\$54.3903	\$435.1224	01/30/2021
1/25/21	ROULEAU	SUPPORT	ADMIN DUTIES		\$45.2840	1.5	\$67.9260	\$101.8890	01/30/2021
1/26/21	ROULEAU	SUPPORT	ADMIN DUTIES		\$45.2840	1	\$67.9260	\$67.9260	01/30/2021
1/26/21	WITYAK	SUPPORT	ACO ADMIN DUTIES	3	\$40.8202	1	\$61.2303	\$61.2303	01/30/2021
1/25/21	LOUCKS	TRAINING	MONTHLY K9 TRNG		\$36.2602	8	\$54.3903	\$435.1224	01/30/2021
1/25/21	DALLAS	PATROL	21-2366 FV		\$36.2602	1	\$54.3903	\$54.3903	01/30/2021
1/27/21	DINUNZIO	PATROL	PATROL - DAYS		\$36.2602	8	\$54.3903	\$435.1224	01/30/2021

OVERT	IME	WEFK	ENDI	NG
VVEIV	1641			

01/30/2021

				Printed 2/3/2021					<u> </u>
DATE	NAME	DIVISION	Assignment	Printed by Michele	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
1/25/21	BAROWN	ADMIN	ADMIN DUTIES		\$49.8662	1.5	\$74.7993	\$112.1990	01/30/2021
1/26/21	BAROWN	ADMIN	ADMIN DUTIES		\$49.8662	1.5	\$74.7993	\$112.1990	01/30/2021
1/28/21	ROULEAU	SUPPORT	ADMIN DUTIES		\$45.2840	2	\$67.9260	\$135.8520	01/30/2021
1/28/21	D'AUTORIO	PATROL	STAFF MEETING		\$45.2840	5	\$67.9260	\$339.6300	01/30/2021
1/28/21	GONZALEZ	ADMIN	ADMIN MTG		\$49.8662	2	\$74.7993	\$149.5986	01/30/2021
1/28/21	KRZANOWSKI	PATROL	STAFF MTG		\$45.2840	6	\$67.9260	\$407.5560	01/30/2021
1/28/21	KRZANOWSKI	PATROL	20-16977 AIT		\$45.2840	2	\$67.9260	\$135.8520	01/30/2021
1/28/21	GUIDA	FINANCIAL	COMPREHENSIVE	E DUI ENF 20/21	\$36.2602	6	\$54.3903	\$326.3418	01/30/2021
1/29/21	DINUNZIO	PATROL	PATROL - DAYS		\$36.2602	8	\$54.3903	\$435.1224	01/30/2021
1/29/21	LOUCKS	PATROL	FVO/WARRANT A	RREST	\$36.2602	2.5	\$54.3903	\$135.9758	01/30/2021
1/29/21	DEGOURSEY	PATROL	20-21634 SUBPO	ENA	\$36.2602	2.5	\$54.3903	\$135.9758	01/30/2021
1/26/21	DELOY	PATROL	PATROL - EVES		\$36.2602	8	\$54.3903	\$435.1224	01/30/2021
1/30/21	DELOY	PATROL	PATROL - EVES		\$36.2602	8	\$54.3903	\$435.1224	01/30/2021
1/29/21	FIFER	PATROL	PATROL - EVES		\$36.2602	8.5	\$54.3903	\$462.3176	01/30/2021
1/30/21	MUMM	FINANCIAL	D.U.I. GRANT		\$36.2602	7.5	\$54.3903	\$407.9273	01/30/2021
1/17/21	FAY	PATROL	PATROL - DAYS		\$32.9194	8	\$49.3791	\$395.0328	01/30/2021
1/17/21	FAY	PATROL	PATROL - DAYS		\$32.9194	8	\$49.3791	\$395.0328	01/30/2021
						TOTAL HE 980.5		TOTAL \$57,979.6375	

Torrington Police Department April 2021 BOS Meeting

High Priority Calls		Lower Priority Calls		Administrative Calls	
Motor Vehicle Accidents	96	Assist Other Agencies	43	Follow Up Investigations	118
Robbery	0	Civilian Requests	153	Fleet Maintenance	51
Larceny	27	Harassment / Harrassing Calls	15	Report Writing	156
Burglary	1	Traffic Offense	135	Extra Patrols	701
Distrubance / Disorderly Conduct	22	Warrant Arrests / Attempts	76	Park and Walk	301
Mentally Unstable / Protective Custody	66	Suspicious Circumstances / Persons/Vehicles	144	Traffic Enforcement	78
Assaults	15	Hangers / Trespassing	1	Radar Monitoring	60
Ambulance Assists	25	Disabled Vehicle	40	Total:	1465
Unwanted Person	19	Neighbor/Tenant - Landlord Disputes	36		
Suicide Attempt	0		3		
Alarms	73	Threatening			
Problem 911	99	Vandalism	5		
Non Violent Family Disputes	28	Drug Violations	3		
Sex Assault	1	DWI	8		
Offense Against Child	4	Noise Complaint	45		
Motor Vehicle Theft	2	Total:	707		
Missing Persons	1				
Domestic Disturbance / Intimidation	14				
Total:	493				

3/3/2021 8:11 AM RECEIVED FOR RECORD TORRINGTON TOWN CLERK

Chief's Monthly Report: Animal Control Division

Report for the month of: February Year: 2021
Total Animal Control Calls: 67 Assist Other Agency: 2 Followup Investigations: 21 Torrington Calls: 41 Goshen Calls: 1 Litchfield Calls: 2 Total Tele-Service Calls: 16 Torrington Tele-Service: 11 Goshen Tele-Service: 1 Litchfield Tele-Service: 4 Calls Handled After Hours: 3 Calls Handled By Patrol Division: 4 Total Animal Bite Calls: 1 Torrington Bites: 0 Goshen Bites: 1 Litchfield Bites: 0 Infractions Issued: 1 Written Warnings: 0 Arrests: 0
Animals Impounded: 19 Animals Redeemed to Owners: 6 Dead Deer: 0 Animals Placed in Adoption: 13 Dead Animals: 3 Transport Emergency Vet: 0 Delinquent Tags: 0 Transport Regular Vet: 3 Other Special Activities this Month:

Chief's Monthly Report: Community Relations Office

Report for the month of:	February Year: 2021	
New Blockwatches	Total Blockwatches	
Number of Persons Fingerprinted	50	
Shifts Assigned to Patrol	2 Number of Infractions 0	

Monthly Activities:

February was a quiet month with lots of snow. PAL has again been slow with only basketball happening. We started planning for upcoming camps and fundraising since last year was very slow on income. We are planning a Winter Festival for early March at West Torrington with a food truck and coffee / hot chocolate truck. I also spent some time planning and walking through some buildings that I acquired for SRT.

2/2/21- Walk through old Psams building with PAC Group for SRT use.

2/4/21- ZOOM tour for Baracco group

2/9/21- Meeting with Andrew Lyon and Smedick for PAL curriculum

2/12/21- Meeting with CSP Swat leader for SRT training

2/12/21- Pepperball training

2/16/21- Walk through Field St. building for SRT

2/18/21- SRT training

2/19/21- ZOOM meeting with Smedick and AVON food drive for food program

2/24/21- NWHCU ALICE training

2/24/21- Meeting with Batchy Brew to setup details for Winter Carnival

Upcoming events:

3/2/21- Webinar for homlessness

3/2/21- ZOOM meeting for PAL food deliveries

3/4/21- Kids Play walk through for safety plan

3/4/21- ZOOM meeting for home visitor training

3/5/21- AVON food delivery

3/12/21- SRT training

3/15/21 week of WEst Hartford

3/24/21- Taser training

3/25/21- BWC training

Chief 's Monthly Report: Traffic Unit

MONTH OF: February 2021

	IN IH OF: FEI	ordary 2021							
FFIC	25	TRAFFIC SURVEYS / INSPECTIONS / COMPLAINTS							
TRAFFIC	3	TRAFFIC / SPEED COUNTS							
	87	PARKING TICKETS 0 WARNING TICKETS ISSUED BY POLICE							
	130	PARKING TICKETS 0 WARNING TICKETS ISSUED BY PARKING							
	0	PARKING TICKETS ISSUED BY OTHER							
PARKING TICKETS	3	HANDICAP PARKING TICKETS ISSUED							
	1	FIRE LANE PARKING TICKETS ISSUED							
	59	OVERNIGHT PARKING TICKETS ISSUED							
NG NG	\$9,170.25	MONIES COLLECTED FROM PARKING TICKETS, REPORTS, PERMITS, ETC							
RK	10,773	UNPAID TICKETS TO DATE							
Α.	\$334,831.11	UNPAID FINES TO DATE							
	89	NOTICES SENT DURING MONTH 0 BOOT LETTERS SENT							
	\$0.00	MONIES COLLECTED FROM METERS Fiscal Year Meter Total: \$79,749.59)							
	\$9,170.25	TOTAL MONTHLY COLLECTIONS (Fiscal year Total Collections: \$214,092.31)							
ω ¹	96	MOTOR VEHICLE ACCIDENTS INVESTIGATED							
M.V. ACCIDENTS	13	MOTOR VEHICLE ACCIDENTS INVOLVING INJURIES							
CD	13	TOTAL PERSONS INJURED IN MOTOR VEHICLE ACCIDENTS							
AC.	0	MOTOR VEHICLE ACCIDENTS INVOLVING FATALITIES							
Μ.	0	TOTAL FATALITIES							
	0	SCHOOL BUS VIOLATIONS							
	9	DRIVING WHILE INTOXICATED VIOLATIONS							
ONS	12	STOP SIGN VIOLATIONS							
DT.	60	SPEED MONITORING LOCATIONS							
OLA	32	SPEEDING VIOLATIONS							
TRAFFIC VIOLATION	21	TRAFFIC SIGNAL VIOLATIONS							
FFI	103	TOTAL TRAFFIC VIOLATIONS							
TR/	78	TRAFFIC ENFORCEMENT LOCATIONS							
	0	COMMERCIAL VEHICLE INSPECTIONS 0 VIOLATIONS FOUND 0 OOS							
SE	8	TRAFFIC SIGNALS REQUIRING REPAIR / MAINTENANCE							
MAINTENANCE	25	TRAFFIC SIGNS REQUIRING REPAIR / MAINTENANCE							
N N	0	ROADWAY MARKINGS REQUIRING MAINTENANCE							
MAI	19	METERS REQUIRING REPAIR / MAINTENANCE							
Ш	7.5	EMPLOYEE HOURS LOST DUE TO EARNED TIME							
TIME	0	EMPLOYEE HOURS LOST DUE TO SICK TIME							
7									

Chief's Monthly Report: Records Bureau

Report for the month of: February Year: 2021
Cases Filed: 698 Requests for reports: 339
Registered Sex Offenders: 102 Observer Applicants: 0
Requests from Parole and Corrections: 10 Criminal Record Checks: 11
Vendor Permits Issued: 0 DCF Requests: 75
Grant Overtime
Narcotics: \$ 0 Community Enhancement Grant: \$ 0
D.U.I. \$ 3086.22 Internet Crimes Against Children Grant \$ 0
Underage Drinking: \$ 108.78 Violence ReductionGrant \$ 0
Blockwatch Grant: \$ 0
Youth & Police Grant: \$ 0 Dare Overtime: \$ 0
Items of Note:
34 New Incoming Pistol Permits \$183.69 Opiate Outreach 37 Pistol Permits Issued 44 New Protective Orders Logged
25 CHH Referrals Sent 22 Warrants Entered

	ton Police Department	A STATE OF THE PARTY OF THE PAR	IG REPORT	
rea	Curriculum	Course Hrs.	Credit Hrs.	
	是非常性的人。 第二十二十二十二十二十二十二十二十二十二十二十二十二十二十二十二十二十二十二十	4	0	NO CONTRACTOR
	Code Topic		Total	
rea	DRE Tablet Exchange Curriculum	Course Hrs.	0 Credit Hrs.	
II	POLICE AND THE LAW	31	31	
н	Code Topic		Total	
	201 Constitutional Law	24	24	
	209 Use of Force	7	7	
rea	Curriculum	Course Hrs.	Credit Hrs.	
III	PRACTICAL SKILLS	392	280	
	Code Topic	Sub	Total	
	300 Practical Police Skills	8	8	
	301 Firearms	40	24	
	301-A Shooting Decisions	104	104	
	301 Firearms Firearms Classroom	8	8	
	302-C Less Than Lethal Force (EDW)	96	8	
	302-D Less Than Lethal Force (Chemical/	48	48	
	304 First Responder Course	56	56	
	306-D OC Spray	8	8	
	307 Practical Skills Day	8	0	
	312 De-Escalation	16	16	
rea	Curriculum	Course Hrs.	Credit Hrs.	
V	HUMAN RELATIONS	29	29	Table 18 Line
	Code Topic		Total	
	400 Human Relations	14	14	
	404 Juvenile Law Dealing with Juveniles	7	7	
	419 Implicit Bias	8	8	
rea	Curriculum	Course Hrs.	Credit Hrs.	
V	CRIMINAL INVESTIGATIONS	104	16	
	Code Topic		Total	
	502B Body Worn Camera	88	0	
roo	514-A Human Trafficking Curriculum	16 Course Hrs.	16 Credit Hrs.	
rea	PATROL PROCEDURES	32	8	
VI	Code Topic		Total	
	610-A Intoximeter Certification	0	0	
	620 K-9 Teams	24	0	
	624 Gangs & Gang Violence	8	8	
	- Sungo & Sung Floring	· ·		
	Officers Attending Officers Attending	Total Course	Total Credit	
	In House Schools Outside Schools	Hrs	Hrs	
	44 37	592	364	



Chief 's Monthly Report: DETECTIVE DIVISION

Report for the month of: February Year: 2021
New Cases: 22
Cases closed by arrest: 4 Cases closed no arrest: 14
Active cases on file: 49
Arrest Warrants Applied For: 2 Arrest Warrants Served: 1
Schools Attended and by whom:
L/BJOH: 2 days (Taser & Body Camera- 2/16 and 2/17) S/KBRO: 3 Days (Taser & Body Camera- 2/16 and 2/17, SRT 2/18) S/MGIO: 5 days (SRT 2/18, West Hartford Recert 2/22/21 to 2/25/21) KTIE: 1 day (Body Camera- 2/16) JCRE: 2 days (Taser & Body Camera- 2/16 and 2/17) KJOH: 1 day (SRT 2/18)
Attached pages detail all activity, broken down by incident type, for the Detective Bureau throughout the course of the month. # of attached pages: 5
Items of Note:
Training Continued: KDAB: 2 days (Taser & Body Camera- 2/16 and 2/17) EMUM: 3 days (Taser & Body Camera- 2/16 and 2/17, Sniper 2/24)
C/N 21-5163; 2434 Mountain Rd. Richard Dillon arrested, case no yet closed, charged with 1 count of Attempted Murder, one count of Assault 1, once count of Assault 1 against an elderly party, in addition to a number of lesser charges.
C/N 21-5531; 236 Main St., Cedric Brown arrested, case not yet closed, charged with one count Assault 1, Kidnapping 1, Strangualtion 1, Sex Assault 1, and Burglary 1.

February 2021 Detective Division Open Case Report

014	Offense Against Child	Total:	5	Open:	5	Closed:
020	Disturbance - Domestic	Total:	1	Open:	1	Closed:
068	Identity Theft	Total:	1	Open:	1	Closed:
069	Weapon Ineligibility	Total:	1	Open:	1	Closed:
106	Accident - Fatal	Total:	1	Open:	1	Closed:
1114	Registry Compliance	Total:	1	Open:	1	Closed:
1141	Pawn Brokers	Total:	6	Open:	6	Closed:
1142	Cell Phone Exam	Total:	2	Open:	2	Closed:
11D	SexAssault Forcible Contact	Total:	2	Open:	2	Closed:
120	Robbery	Total:	1	Open:	1	Closed:
13A	Assault Aggravated	Total:	3	Open:	3	Closed:
212	Civilian Request	Total:	1	Open:	1	Closed:

	Total Arrest: 2	Total	49	Open:	49	Closed:
410	Untimely Death	Total:	7	Open:	7	Closed:
35A	Drug/Narcotic Violation	Total:	1	Open:	1	Closed:
281	Suspicious Circumstances	Total:	6	Open:	6	Closed:
26B	Fraud Credit Card/ATM	Total:	1	Open:	1	Closed:
26A	Fraud False Pretenses	Total:	2	Open:	2	Closed:
264	Assist Trinity	Total:	1	Open:	1	Closed:
245	Missing Person	Total:	1	Open:	1	Closed:
23H	Larceny All Other	Total:	1	Open:	1	Closed:
23G	Larceny Theft of MV Parts	Total:	3	Open:	3	Closed:
232	Harassment	Total:	1	Open:	1	Closed:

February 2021 Detective Division Closed Case Report

	Narcotic Info	Total:	0	Open:	Closed:	1
014	Offense Against Child	Total:	1	Open:	Closed:	1
069	Weapon Ineligibility	Total:	2	Open:	Closed:	2
1145	CODIS Hit	Total:	1	Open:	Closed:	1
11A	Sexual Assault With Force	Total:	1	Open:	Closed:	1
200	Arson	Total:	1	Open:	Closed:	1
209	Assist Fire Dept	Total:	1	Open:	Closed:	1
264	Assist Trinity	Total:	1	Open:	Closed:	1
281	Suspicious Circumstances	Total:	4	Open:	Closed:	4
36B	Sexual Assault (Statutory)	Total:	1	Open:	Closed:	1
400	Bomb Threat	Total:	1	Open:	Closed:	1
410	Untimely Death	Total:	1	Open:	Closed:	1

Total Arrest: 2 Total 15 Open: Closed: 16

February 2021 Detective Division New Case Report

014	Offense Against Child	Total:	3	Open:	3	Closed:	
020	Disturbance - Domestic	Total:	1	Open:	1	Closed:	
068	Identity Theft	Total:	1	Open:	1	Closed:	
069	Weapon Ineligibility	Total:	3	Open:	1	Closed:	2
1114	Registry Compliance	Total:	1	Open:	1	Closed:	
1142	Cell Phone Exam	Total:	1	Open:		Closed:	
1145	CODIS Hit	Total:	1	Open:		Closed:	1
13A	Assault Aggravated	Total:	1	Open:	1	Closed:	
212	Civilian Request	Total:	1	Open:	1	Closed:	
23G	Larceny Theft of MV Parts	Total:	2	Open:	2	Closed:	
281	Suspicious Circumstances	Total:	7	Open:	4	Closed:	2
	Total Arrest: 1	Total	22	Open:	15	Closed:	5

Feb. OT Report

OVERTIME WEEK ENDING

02/06/

8/202	- 11	ul 2021	Mon	thly	
	OT HRS	OT RATE	TOTAL OT	WEEK ENDING	
62	1.5	\$74.7993	\$112.1990	02/06/2021	
02	3.5	\$61.2303	\$214.3061	02/06/2021	
79	1	\$45.8819	\$45.8819	02/06/2021	
79	3	\$45.8819	\$137.6456	02/06/2021	
94	2	\$49.3791	\$98.7582	02/06/2021	
02	8.5	\$54.3903	\$462.3176	02/06/2021	
02	1.5	\$54.3903	\$81.5855	02/06/2021	
94	8	\$49.3791	\$395.0328	02/06/2021	
02	8	\$54.3903	\$435.1224	02/06/2021	
02	8	\$61.2303	\$489.8424	02/06/2021	
79	2	\$45.8819	\$91.7637	02/06/2021	
02	3	\$54.3903	\$163.1709	02/06/2021	
)2	1	\$54.3903	\$54.3903	02/06/2021	
)2	2	\$54.3903	\$108.7806	02/06/2021	
)2	8.5	\$61.2303	\$520.4576	02/06/2021	
24	1.5	\$57.1536	\$85.7304	02/06/2021	
94	.50	\$49.3791	\$24.6896	02/06/2021	
)2	3	\$61.2303	\$183.6909	02/06/2021	
)2	8.5	\$61.2303	\$520.4576	02/06/2021	
94	5	\$49.3791	\$246.8955	02/06/2021	
52	1	\$74.7993	\$74.7993	02/06/2021	
62	5	\$74.7993	\$373.9965	02/06/2021	
32	3	\$74.7993	\$224.3979	02/06/2021	
10	8	\$67.9260	\$543.4080	02/06/2021	

			Printed	1 3/4/2021		mer	ting	WIOII	,
DATE	NAME	DIVISION		by Michele	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
2/4/21	BAROWN	ADMIN	ADMIN DUTIES		\$49.8662	1.5	\$74.7993	\$112.1990	02/06/2021
2/3/21	BALDIS	TRAINING	INTOX INSTRUCTOR CER	RTIFICATION	\$40.8202	3.5	\$61.2303	\$214.3061	02/06/2021
2/4/21	BELONICK	PATROL	21-3457, 21-3458 ARREST		\$30.5879	1	\$45.8819	\$45.8819	02/06/2021
2/5/21	BELONICK	PATROL	21-3562 CASE REPORT		\$30.5879	3	\$45.8819	\$137.6456	02/06/2021
2/4/21	CURTIN	PATROL	21-3456 FV ARREST		\$32.9194	2	\$49.3791	\$98.7582	02/06/2021
2/3/21	DAVIES	PATROL	PATROL - DAYS		\$36.2602	8.5	\$54.3903	\$462.3176	02/06/2021
2/3/21	DELOY	PATROL	21-3413 FVO ARREST		\$36.2602	1.5	\$54.3903	\$81.5855	02/06/2021
2/1/21	FAY	PATROL	PATROL - DAYS		\$32.9194	8	\$49.3791	\$395.0328	02/06/2021
2/4/21	GUIDA	PATROL	PATROL - EVES		\$36.2602	8	\$54.3903	\$435.1224	02/06/2021
2/4/21	KELLY	PATROL	PATROL - DAYS	TC	\$40.8202	8	\$61.2303	\$489.8424	02/06/2021
2/4/21	KISIEL	PATROL	21-3461 DUI ARREST	R)RR	\$30.5879	2	\$45.8819	\$91.7637	02/06/2021
2/5/21	LETTIERI	PATROL	21-2562 ARREST	3/4/2021 8 RECEIVED FOR R TORRINGTON TOWN	\$36.2602	3	\$54.3903	\$163.1709	02/06/2021
2/4/21	LETTIERI	PATROL	21-3457, 21-3458 ARREST	OLE	\$36.2602	1	\$54.3903	\$54.3903	02/06/2021
2/4/21	MRAZIK	PATROL	21-3461 DUI ARREST	3/4/ 3D H N T	\$36.2602	2	\$54.3903	\$108.7806	02/06/2021
2/3/21	SULTAIRE	PATROL	PATROL - DAYS	4/202 FOR TOW	\$40.8202	8.5	\$61.2303	\$520.4576	02/06/2021
2/1/21	TIEMAN	DETECTIVE	20-26513 CASE WORK	3/4/2021 8:59 ED FOR RECO N TOWN CL	\$38.1024	1.5	\$57.1536	\$85.7304	02/06/2021
2/5/21	MISKO	PATROL	20-29507 WARRANT	1 8:59 AM RECORD N CLERK	\$32.9194	.50	\$49.3791	\$24.6896	02/06/2021
2/5/21	BALDIS	PATROL	21-1157 ARREST	AM ORD ERK	\$40.8202	3	\$61.2303	\$183.6909	02/06/2021
2/6/21	BALDIS	PATROL	PATROL - EVES		\$40.8202	8.5	\$61.2303	\$520.4576	02/06/2021
2/5/21	CURTIN	PATROL	20-15177 ARREST REPOR	T ON RDO	\$32.9194	5	\$49.3791	\$246.8955	02/06/2021
2/2/21	GONZALEZ	ADMIN	ADMIN DUTIES		\$49.8662	1	\$74.7993	\$74.7993	02/06/2021
2/3/21	GONZALEZ	ADMIN	ADMIN DUTIES		\$49.8662	5	\$74.7993	\$373.9965	02/06/2021
2/5/21	GONZALEZ	ADMIN	ADMIN DUTIES		\$49.8662	3	\$74.7993	\$224.3979	02/06/2021
2/5/21	JOSEPH	PATROL	PATROL - EVES		\$45.2840	8	\$67.9260	\$543.4080	02/06/2021
2/5/21	KELLY	PATROL	ATTY DAIGLE MEETING		\$40.8202	1	\$61.2303	\$61.2303	02/06/2021
2/5/21	ROULEAU	SUPPORT	ADMIN DUTIES		\$45.2840	1.5	\$67.9260	\$101.8890	02/06/2021
2/5/21	TIEMAN	PATROL	PATROL - EVES		\$38.1024	8.5	\$57.1536	\$485.8056	02/06/2021
2/5/21	WITYAK	SUPPORT	BUILDING MAINTENANCE	DOG POUND	\$40.8202	8	\$61.2303	\$489.8424	02/06/2021

OVERTIME WEEK ENDING	OV	/ERT	IME	WEEK	ENDING
----------------------	----	------	-----	------	---------------

02/06/2021

			Printed 3/4/2021					
DATE	NAME	DIVISION	Assignment Printed by Michele	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
2/6/21	GUIDA	FINANCIAL	20/21 COMPREHENSIVE DUI PROGRAM	\$36.2602	6	\$54.3903	\$326.3418	02/06/2021
2/5/21	DAVIES	FINANCIAL	20/21 COMPREHENSIVE DUI PROGRAM	\$36.2602	6	\$54.3903	\$326.3418	02/06/2021
2/8/21	BAROWN	ADMIN	ADMIN DUTIES		1.5		\$0.0000	02/13/2021
2/9/21	BAROWN	ADMIN	ADMIN DUTIES		1.5		\$0.0000	02/13/2021
2/7/21	D'AUTORIO	PATROL	PATROL - MIDS	\$45.2840	8	\$67.9260	\$543.4080	02/13/2021
2/10/21	DAVIES	PATROL	PATROL - DAYS	\$36.2602	8	\$54.3903	\$435.1224	02/13/2021
2/9/21	FAY	PATROL	PATROL - DAYS	\$32.9194	8	\$49.3791	\$395.0328	02/13/2021
2/7/21	GONZALEZ	PATROL	PATROL - MIDS	\$49.8662	8	\$74.7993	\$598.3944	02/13/2021
2/8/21	GONZALEZ	PATROL	PATROL - MIDS	\$49.8662	8	\$74.7993	\$598.3944	02/13/2021
2/10/21	GUIDA	PATROL	PATROL - DAYS	\$36.2602	8.5	\$54.3903	\$462.3176	02/13/2021
2/7/21	JOSEPH	PATROL	PATROL - EVES	\$45.2840	8	\$67.9260	\$543.4080	02/13/2021
2/7/21	KRZANOWSKI	PATROL	PATROL - DAYS	\$45.2840	8.5	\$67.9260	\$577.3710	02/13/2021
2/9/21	LOUCKS	PATROL	PATROL - DAYS	\$36.2602	8.5	\$54.3903	\$462.3176	02/13/2021
2/7/21	ROULEAU	FINANCIAL	DUI GRANT	\$45.2840	7	\$67.9260	\$475.4820	02/13/2021
2/6/21	SEGUI	PATROL	PATROL - DAYS	\$36.2602	8.5	\$54.3903	\$462.3176	02/13/2021
2/10/21	STEVENS	PATROL	21-4150 DV ARREST	\$36.2602	2	\$54.3903	\$108.7806	02/13/2021
2/10/21	SULTAIRE	PATROL	PATROL - DAYS	\$40.8202	8.5	\$61.2303	\$520.4576	02/13/2021
2/7/21	TIEMAN	PATROL	PATROL - MIDS	\$38.1024	8.5	\$57.1536	\$485.8056	02/13/2021
2/7/21	TOLEDO	PATROL	PATROL - DAYS	\$36.2602	8	\$54.3903	\$435.1224	02/13/2021
2/12/21	SEGUI	PATROL	PATROL - DAYS	\$36.2602	8.5	\$54.3903	\$462.3176	02/13/2021
2/12/21	FIFER	PATROL	PATROL - DAYS	\$36.2602	8.5	\$54.3903	\$462.3176	02/13/2021
2/8/21	BLASIAK	TRAINING	WEST HARTFORD RECERT	\$36.2602	8	\$54.3903	\$435.1224	02/13/2021
2/11/21	KELLY	PATROL	PATROL - DAYS	\$40.8202	8	\$61.2303	\$489.8424	02/13/2021
2/11/21	SOUTHARD	PATROL	PATROL - DAYS	\$40.8202	8	\$61.2303	\$489.8424	02/13/2021
2/12/21	KRZANOWSKI	PATROL	PATROL - MIDS	\$45.2840	8	\$67.9260	\$543.4080	02/13/2021
2/10/21	MAIGA	TRAINING	WEST HARTFORD RECERT ON RDO	\$40.8202	8	\$61.2303	\$489.8424	02/13/2021
2/9/21	MAIGA	TRAINING	WEST HARTFORD RECERT ON RDO	\$40.8202	8	\$61.2303	\$489.8424	02/13/2021
2/9/21	ROULEAU	SUPPORT	ADMIN DUTIES	\$45.2840	2.5	\$67.9260	\$169.8150	02/13/2021

OV	FRT	ME	WEEK	ENDING	
UV		IVIE	AAEEL	ENDING	

02/13/2021

			Printed 3/4/2021					
DATE	NAME	DIVISION	Assignment Printed by Michele	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
2/8/21	ROULEAU	SUPPORT	ADMIN DUTIES	\$45.2840	2	\$67.9260	\$135.8520	02/13/2021
2/11/21	ROULEAU	SUPPORT	ADMIN DUTIES	\$45.2840	2	\$67.9260	\$135.8520	02/13/2021
2/8/21	GONZALEZ	ADMIN	ADMIN DUTIES	\$49.8662	2	\$74.7993	\$149.5986	02/13/2021
2/11/21	GONZALEZ	ADMIN	ADMIN DUTIES	\$49.8662	2	\$74.7993	\$149.5986	02/13/2021
2/13/21	BALDIS	PATROL	21-4597 PRISONER WATCH	\$40.8202	8	\$61.2303	\$489.8424	02/13/2021
2/13/21	SEGUI	PATROL	PATROL - DAYS	\$36.2602	8.5	\$54.3903	\$462.3176	02/13/2021
2/13/21	DALLAS	PATROL	PATROL - DAYS	\$36.2602	8	\$54.3903	\$435.1224	02/13/2021
2/13/21	TOLEDO	PATROL	PATROL - DAYS	\$36.2602	8.5	\$54.3903	\$462.3176	02/13/2021
2/13/21	D'AUTORIO	PATROL	PATROL - DAYS	\$45.2840	8	\$67.9260	\$543.4080	02/13/2021
2/13/21	D'AUTORIO	PATROL	PATROL - MIDS	\$45.2840	8	\$67.9260	\$543.4080	02/13/2021
2/12/21	BALDIS	SUPPORT	ADMIN DUTIES	\$40.8202	3	\$61.2303	\$183.6909	02/13/2021
2/11/21	BALDIS	SUPPORT	ADMIN DUTIES	\$40.8202	3	\$61.2303	\$183.6909	02/13/2021
2/10/21	BAROWN	ADMIN	ADMIN DUTIES	\$49.8662	1	\$74.7993	\$74.7993	02/13/2021
2/12/21	BAROWN	ADMIN	ADMIN DUTIES	\$49.8662	1	\$74.7993	\$74.7993	02/13/2021
2/12/21	PETERS	PATROL	PATROL - EVES	\$40.8202	8.5	\$61.2303	\$520.4576	02/13/2021
2/6/21	DELOY	PATROL	PATROL - EVES	\$36.2602	8	\$54.3903	\$435.1224	02/13/2021
2/11/21	DELOY	PATROL	PATROL - DAYS	\$36.2602	8.5	\$54.3903	\$462.3176	02/13/2021
2/13/21	DELOY	PATROL	PATROL - DAYS	\$36.2602	8.5	\$54.3903	\$462.3176	02/13/2021
2/8/21	WITYAK	SUPPORT	ADMIN DUTIES	\$40.8202	1.5	\$61.2303	\$91.8455	02/13/2021
2/11/21	WITYAK	SUPPORT	ADMIN DUTIES	\$40.8202	1	\$61.2303	\$61.2303	02/13/2021
2/13/21	GUIDA	FINANCIAL	COMPREHENSIVE DUI GRANT	\$36.2602	6	\$54.3903	\$326.3418	02/13/2021
2/12/21	DINUNZIO	FINANCIAL	COMPREHENSIVE DUI GRANT	\$36.2602	6	\$54.3903	\$326.3418	02/13/2021
2/12/21	DAVIES	FINANCIAL	COMPREHENSIVE DUI GRANT	\$36.2602	6	\$54.3903	\$326.3418	02/13/2021
2/13/21	DELOY	FINANCIAL	COMPREHENSIVE DUI GRANT	\$36.2602	6	\$54.3903	\$326.3418	02/13/2021
2/12/21	DELOY	PATROL	PATROL - DAYS	\$36.2602	8.5	\$54.3903	\$462.3176	02/13/2021
2/17/21	DAVIES	PATROL	PATROL - DAYS	\$36.2602	8.5	\$54.3903	\$462.3176	02/20/2021
2/16/21	TIEMAN	PATROL	21-4597 PRISONER WATCH	\$38.1024	8.5	\$57.1536	\$485.8056	02/20/2021
2/15/21	ROULEAU	PATROL	PATROL - EVES	\$45.2840	8.5	\$67.9260	\$577.3710	02/20/2021

OI	/FRT	ME	WE	FK	FNI	DING
		IVIL	AAL			

02/20/2021

				D				· · · · · · · · · · · · · · · · · · ·	,
DATE	NAME	DIVISION	Assignment	Printed 3/4/2021 Printed by Michele	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
2/13/21	FOX	PATROL	21-4597 PRISONER	RWATCH	\$36.2602	2	\$54.3903	\$108.7806	02/20/2021
2/14/21	FIFER	PATROL	PATROL - DAYS		\$36.2602	8.5	\$54.3903	\$462.3176	02/20/2021
2/14/21	KRZANOWSKI	PATROL	PATROL - DAYS		\$45.2840	8.5	\$67.9260	\$577.3710	02/20/2021
2/14/21	BELONICK	PATROL	21-4597 PRISONER	RWATCH	\$30.5879	8	\$45.8819	\$367.0548	02/20/2021
2/14/21	TIEMAN	PATROL	21-4597 PRISONER	WATCH	\$38.1024	8.5	\$57.1536	\$485.8056	02/20/2021
2/16/21	DAVIES	PATROL	PATROL - DAYS		\$36.2602	8.5	\$54.3903	\$462.3176	02/20/2021
2/16/21	MAIGA	PATROL	PATROL - DAYS		\$40.8202	8.5	\$61.2303	\$520.4576	02/20/2021
2/17/21	KISIEL	PATROL	21-4987 FV INVEST	IGATION	\$30.5879	2.5	\$45.8819	\$114.7046	02/20/2021
2/16/21	DALLAS	PATROL	PRISONER WATCH	1	\$36.2602	2.5	\$54.3903	\$135.9758	02/20/2021
2/17/21	FAY	PATROL	21-4987 FV INVEST	IGATION	\$32.9194	1	\$49.3791	\$49.3791	02/20/2021
2/18/21	GUIDA	PATROL	PATROL - DAYS		\$36.2602	8.5	\$54.3903	\$462.3176	02/20/2021
2/15/21	BAROWN	ADMIN	ADMIN DUTIES		\$49.8662	1.5	\$74.7993	\$112.1990	02/20/2021
2/16/21	BAROWN	ADMIN	ADMIN DUTIES		\$49.8662	1.5	\$74.7993	\$112.1990	02/20/2021
2/18/21	BAROWN	PATROL	PATROL - MIDS		\$49.8662	8	\$74.7993	\$598.3944	02/20/2021
2/18/21	BALDIS	PATROL	21-5163 ASSAULT	ARREST	\$40.8202	4	\$61.2303	\$244.9212	02/20/2021
2/18/21	JOHNSON B	DETECTIVI	21-5163 ASSAULT	ARREST	\$45.2840	6.5	\$67.9260	\$441.5190	02/20/2021
2/18/21	CREAN	DETECTIVI	21-5163 ASSAULT	ARREST	\$38.1024	6	\$57.1536	\$342.9216	02/20/2021
2/18/21	DABLAIN	DETECTIVE	21-5163 ASSAULT	ARREST	\$38.1024	6	\$57.1536	\$342.9216	02/20/2021
2/18/21	GUIDA	PATROL	21-5163 ASSAULT	ARREST	\$36.2602	1	\$54.3903	\$54.3903	02/20/2021
2/18/21	MCINTYRE	PATROL	21-5163 ASSAULT	ARREST	\$36.2602	7	\$54.3903	\$380.7321	02/20/2021
2/18/21	FAY	PATROL	PATROL - DAYS		\$32.9194	8	\$49.3791	\$395.0328	02/20/2021
2/19/21	DINUNZIO	PATROL	PATROL - DAYS		\$36.2602	8	\$54.3903	\$435.1224	02/20/2021
2/18/21	PETERS	PATROL	21-5173 / 21-5053		\$40.8202	2	\$61.2303	\$122.4606	02/20/2021
2/16/21	ROULEAU	SUPPORT	ADMIN DUTIES		\$45.2840	1	\$67.9260	\$67.9260	02/20/2021
2/17/21	ROULEAU	SUPPORT	ADMIN DUTIES		\$45.2840	1.5	\$67.9260	\$101.8890	02/20/2021
2/18/21	ROULEAU	SUPPORT	ADMIN DUTIES		\$45.2840	1.5	\$67.9260	\$101.8890	02/20/2021
2/18/21	GUIDA	FINANCIAL	COMPREHENSIVE	DUI PROGRAM	\$36.2602	6	\$54.3903	\$326.3418	02/20/2021
2/20/21	BAROWN	PATROL	PATROL - MIDS		\$49.8662	8	\$74.7993	\$598.3944	02/20/2021

0	/CDTIN	AE 14	VEEN	ENIDI	NIC
U	/ERTIN		VEEN	CINDI	NG

02/20/2021

DATE	NAME	DIVISION	Assignment Printed 3/4/2021 Printed by Miche	DATE	OT UPS	OT DATE	TOTAL OT	WEEK ENDING
		PATROL		10312	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
2/19/21	BELONICK		PATROL - DAYS	\$30.5879	8	\$45.8819	\$367.0548	02/20/2021
2/19/21	BROUILLARD		APPLICANT BACKGROUND ST		3	\$61.2303	\$183.6909	02/20/2021
2/18/21	соок	SERT	MONTHLY MANDATORY SERT	TRAINING \$36.2602	8	\$54.3903	\$435.1224	02/20/2021
2/18/21	D'AUTORIO	PATROL	PATROL - MIDS	\$45.2840	.50	\$67.9260	\$33.9630	02/20/2021
2/16/21	DELOY	PATROL	PATROL - EVES	\$36.2602	8	\$54.3903	\$435.1224	02/20/2021
2/20/21	DELOY	PATROL	PATROL - DAYS	\$36.2602	8.5	\$54.3903	\$462.3176	02/20/2021
2/20/21	DINUNZIO	FINANCIAL	COMPREHENSIVE DUI GRANT	\$36.2602	6	\$54.3903	\$326.3418	02/20/2021
2/19/21	FIFER	TRAINING	ADMIN DUTIES FOR DRE RECE	RT \$36.2602	2	\$54.3903	\$108.7806	02/20/2021
2/20/21	FIFER	TRAINING	PATROL - EVES	\$36.2602	8.5	\$54.3903	\$462.3176	02/20/2021
2/19/21	GONZALEZ	PATROL	PATROL - MIDS	\$49.8662	8	\$74.7993	\$598.3944	02/20/2021
2/19/21	KRZANOWSKI	PATROL	PATROL - DAYS	\$45.2840	8	\$67.9260	\$543.4080	02/20/2021
2/20/21	KRZANOWSKI	PATROL	PATROL - DAYS	\$45.2840	8.5	\$67.9260	\$577.3710	02/20/2021
2/20/21	MISKO	PATROL	21-5349 ARREST	\$32.9194	3	\$49.3791	\$148.1373	02/20/2021
2/19/21	ROULEAU	PATROL	PATROL - EVES	\$45.2840	8.5	\$67.9260	\$577.3710	02/20/2021
2/20/21	ROULEAU	PATROL	PATROL - EVES	\$45.2840	8.5	\$67.9260	\$577.3710	02/20/2021
2/20/21	TOLEDO	PATROL	PATROL - DAYS	\$36.2602	8.5	\$54.3903	\$462.3176	02/20/2021
2/19/21	WITYAK	SUPPORT	FOIA REDACTIONS/CASE REVI	EW \$40.8202	5	\$61.2303	\$306.1515	02/20/2021
2/15/21	WITYAK	SUPPORT	AXON BODY CAMERA ROLLOU	T \$40.8202	2	\$61.2303	\$122.4606	02/20/2021
2/22/21	BALDIS	PATROL	PATROL - EVES	\$40.8202	8.5	\$61.2303	\$520.4576	02/27/2021
2/21/21	BELONICK	PATROL	20-5446	\$30.5879	.50	\$45.8819	\$22.9409	02/27/2021
2/22/21	BELONICK	PATROL	PATROL - DAYS	\$30.5879	8	\$45.8819	\$367.0548	02/27/2021
2/22/21	CURTIN	PATROL	21-1721 PREP FOR SUBPOENA	\$32.9194	2	\$49.3791	\$98.7582	02/27/2021
2/21/21	D'AUTORIO	PATROL	PATROL - DAYS	\$45.2840	8	\$67.9260	\$543.4080	02/27/2021
2/23/21	DAVIES	PATROL	21-5723 RPT/WARRANT	\$36.2602	5	\$54.3903	\$271.9515	02/27/2021
2/23/21	DEGOURSEY	PATROL	21-5666 DV ARREST	\$36.2602	.50	\$54.3903	\$27.1952	02/27/2021
2/22/21	FADOR	DETECTIVE	21-5531 SEX ASSAULT	\$38.1024	10	\$57.1536	\$571.5360	02/27/2021
2/23/21	FAY	PATROL	PATROL - DAYS	\$32.9194	8	\$49.3791	\$395.0328	02/27/2021
2/22/21	GIORDANO	DETECTIVE	21-5531 ASSAULT	\$40.8202	11	\$61.2303	\$673.5333	02/27/2021
					18:		************	

OVERTIME WEEK	ENDING
----------------------	--------

02/27/2021

				Printed 3/4/2021					
DATE	NAME	DIVISION	Assignment	Printed by Michele	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
2/21/21	GUIDA	PATROL	21-5504/22-5505/22-	5506 ARREST	\$36.2602	.50	\$54.3903	\$27.1952	02/27/2021
2/23/21	GUIDA	PATROL	21-5244 ARREST		\$36.2602	3.5	\$54.3903	\$190.3661	02/27/2021
2/21/21	JOHNSON K	DETECTIVE	21-5531 ASSAULT		\$38.1024	11	\$57.1536	\$628.6896	02/27/2021
2/21/21	KISIEL	PATROL	21-5427 ASSAULT		\$30.5879	2	\$45.8819	\$91.7637	02/27/2021
2/21/21	KRZANOWSKI	PATROL	PATROL - EVES		\$45.2840	8.5	\$67.9260	\$577.3710	02/27/2021
2/23/21	KRZANOWSKI	PATROL	PATROL - EVES		\$45.2840	8	\$67.9260	\$543.4080	02/27/2021
2/22/21	MAIGA	PATROL	PATROL - EVES		\$40.8202	1	\$61.2303	\$61.2303	02/27/2021
2/21/21	OTIS	PATROL	PATROL - DAYS		\$36.2602	8.5	\$54.3903	\$462.3176	02/27/2021
2/24/21	TIEMAN	PATROL	PATROL - MIDS		\$38.1024	8.5	\$57.1536	\$485.8056	02/27/2021
2/23/21	FIFER	FINANCIAL	UNDERAGE DRINKI	NG GRANT	\$36.2602	2	\$54.3903	\$108.7806	02/27/2021
2/24/21	KRZANOWSKI	PATROL	PATROL - DAYS		\$45.2840	8.5	\$67.9260	\$577.3710	02/27/2021
2/25/21	KRZANOWSKI	PATROL	PATROL - DAYS		\$45.2840	8.5	\$67.9260	\$577.3710	02/27/2021
2/24/21	MAIGA	PATROL	PATROL - DAYS		\$40.8202	8.5	\$61.2303	\$520.4576	02/27/2021
2/23/21	PETERS	PATROL	21-5752 ARREST		\$40.8202	1.5	\$61.2303	\$91.8455	02/27/2021
2/24/21	DAVIES	PATROL	SNIPER TRAINING		\$36.2602	8	\$54.3903	\$435.1224	02/27/2021
2/24/21	DELOY	PATROL	PATROL - EVES		\$36.2602	8	\$54.3903	\$435.1224	02/27/2021
2/25/21	DELOY	PATROL	PATROL - EVES		\$36.2602	8	\$54.3903	\$435.1224	02/27/2021
2/22/21	ROULEAU	SUPPORT	ADMIN DETAIL		\$45.2840	1	\$67.9260	\$67.9260	02/27/2021
2/23/21	ROULEAU	SUPPORT	ADMIN DETAILS		\$45.2840	2	\$67.9260	\$135.8520	02/27/2021
2/25/21	ROULEAU	PATROL	PATROL - EVES		\$45.2840	9	\$67.9260	\$611.3340	02/27/2021
2/25/21	STEVENS	PATROL	PATROL - DAYS		\$36.2602	5	\$54.3903	\$271.9515	02/27/2021
2/27/21	BELONICK	PATROL	PATROL - DAYS		\$30.5879	8	\$45.8819	\$367.0548	02/27/2021
2/27/21	BLASIAK	PATROL	21-6200 MVA		\$36.2602	.50	\$54.3903	\$27.1952	02/27/2021
2/27/21	FIFER	PATROL	PATROL - DAYS		\$36.2602	8.5	\$54.3903	\$462.3176	02/27/2021
2/27/21	TOLEDO	PATROL	PATROL - DAYS		\$36.2602	8.5	\$54.3903	\$462.3176	02/27/2021
2/27/21	SOUTHARD	PATROL	PATROL - EVES		\$40.8202	8	\$61.2303	\$489.8424	02/27/2021
2/27/21	JOSEPH	PATROL	PATROL - DAYS		\$45.2840	8	\$67.9260	\$543.4080	02/27/2021
2/26/21	D'AUTORIO	PATROL	PATROL - DAYS		\$45.2840	8	\$67.9260	\$543.4080	02/27/2021

			OVERTIME WEEK ENDING Printed 3/4/2021		02/27/2021			Monthly	
DATE	NAME	DIVISION	Assignment	Printed by Michele	RATE	OT HRS	OT RATE	E TOTAL OT	WEEK ENDING
2/24/21	BLASIAK	PATROL	PATROL - EVES		\$36.2602	8	\$54.3903	\$435.1224	02/27/2021
2/26/21	GONZALEZ	ADMIN	ADMIN DUTIES		\$49.8662	8	\$74.7993	\$598.3944	02/27/2021
2/26/21	PETERS	ADMIN	ADMIN DUTIES OF	N RDO	\$40.8202	8	\$61.2303	\$489.8424	02/27/2021
2/26/21	OTIS	PATROL	PATROL - DAYS		\$36.2602	5.5	\$54.3903	\$299.1467	02/27/2021
2/26/21	KELLY	FINANCIAL	OPIATE OUTREAC	CH GRANT	\$40.8202	3	\$61.2303	\$183.6909	02/27/2021
					TOTAL HRS 995.5		TOTAL \$58,951.0607		

02/27/2021

OVERTIME WEEK ENDING